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1-3 Transforming Linear Functions

Let g(x) be the indicated transformation of f(x).
Write the rule for g(x).

1. f(x) = 2x + 3; vertical translation 4 units up

(X\)T ‘F(X) +4 [q(x):Z)('(-?l
(X)) = (2x4>)+4 ¥

2. f(x) = x - 2; horizontal translation right 3 units
AL JIS 3= X- S
J&x) = (%=-)-2L

3. f(x) = 2x - 1; horizontal compression by a factor of 1/3

(x) = Q(>x) =\
90 = ox- )
v
4. fix) = 3x-li 2; vertical compression b 1/4
qu)= 79 40x)= Zx+ %

- L
gx)= = (Bx2y
5. f(x) = x; vertical shift down 2 ﬂnits followed by a
Cvertical stretch by a factor of 55 l’\ %)

5(><): Ly~
3(><): X-2

MO = Do)
hOO = 52
[b(x)‘ Ox- \Oj
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b. fx)= Xy Verticel Siretch
b\j o fector of 5 Lollowedd

[9\/ o verticel chidd down pi

W)
%(x)’ 6\((”
- HX

Let g(x) be the indicated transformation of f(x).
Write the rule for g(x).

6. f(x) is the linear function defined in the table; g(x)
is a reflection across the y-axis C

‘F(X) A +2 1 0
be) f( x) ——
5 XY+ 2 1 4

th\ = A X+

7. f{x) is the linear function defined in the table; g(x)

is a reflection across the x-axis _
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